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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311103
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213112526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

When a normal student behaves m an erratic manner in the class. you would:

&8 Fobm mCF';E_J SENES° oPrrde (B8N0 808053 9 do IFY?

Options :
Pull up the student then and there.
5030 D0 B2 JeBLEED
55213149201. ™ -
Talk to the student after the class.
S811& So=8 DTLE Sreptharid
55213149202. x

Ask the student to leave the class.

e ﬂmﬂ;g‘sﬁ SO DES E%’;E&:oe‘:ﬁ‘a
55213149203.



Ignore the student.

e PO HBoHE D
o [
55213149204.

Question Number : 2 Question Id : 55213112527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A teacher's most important challenge 1s:

&8 Garreaind (DerdDd Baren
Options :

To make students do their home work

Ejmﬂ;dg@ﬁ 20859 Jovosso
)
55213149205.

To make teaching-learning process enjoyable

*‘”’565—4"‘" 53 (BB wFEsss0 Jchto
55213149206.

To maintain discipline in the class room

SEHS KL (Bad ﬁ:‘*é" Jolulnle
55213149207.

To prepare the question paper

'-E""'Eﬂ_,,_‘:""h ?.'JCﬁ.."'“fl:'tﬁ
55213149208.

Question Number : 3 Question Id : 55213112528 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A person can enjoy teaching as a profession when he
5 58 oG &V ST D0TBRPHEOE, ©SI8

Options :
has control over students.
DTHe T VADOER SR)ZPE
552131492009.
commands respect from students.
e ol T8 SPolda)d
[
55213149210.
1s more qualified than his colleagues.
JTFRErDe ST7) JE)S DudSen SOA SV
55213149211.
1s very close to higher authorities.
©L%eS Hod FYIRE0 SON eND®
55213149212.

Question Number : 4 Question Id : 55213112529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Maximum participation of students 1s possible in teaching learning through:
*"qﬁ—n"""* B3 (HBcHs® “‘Dﬂ“é:a RSP Sd) DoRPotoT HKE
od oo o

Options :



discussion method

35%) B8
55213149213. '

lecture method

SRTR0 DS
55213149214. “‘

use of audio-visual aids

&% —-F5e SEFH56ere DI@FNOSEO
55213149215.

Activity based method
S\aeroed SRS D8
g o &
55213149216.

Question Number : 5 Question Id : 55213112530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is not important aspect of the teacher's role in learning?

OfRN08 GPETae) (HErs PE Ao vodo HG?

Options:

The development of insight into exam pattern and scoring

$0E Do Jkure S0 ©LE S RHod Srgo drdosto
55213149217.

The development of insight into the pitfalls and dangers to be avoided

OgdNE° o BEotien HOD [EIrmreH ©fIiN0H JrSSD o
55213149218.



The provision of encouragement and moral support

P50 olcin I8 D vdrio

55213149219.
The provision of diagnostic and remedial help
SPOATBes SOAN AeBes SPsPEo ©oliodtso
55213149220. |

Question Number : 6 Question Id : 55213112531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What do you consider as the main aim of inter disciplinary research?

DG Tpe HEHTROS B0SES TwE), Swgy e

Options :
To bring out holistic approach to research.
HOTEIE® 3o G5B Dofrodosto
55213149221.
To reduce the emphasis of single subject in research domain.
H50S5H505 Jonobod) o8 e Dobs voeR Hoddo Ihdo
55213149222.
To over simplify the problem of research.
HoGme S0 JEFo Jawso
55213149223.
To create anew trend in research methodology.
Do a":cgéo@oc&: SR eBad ﬁéﬁ&oﬁitﬁo
55213149224. )

Sub-Section Number : 2



Sub-Section Id :

Question Shuffling Allowed :

5521311104

Yes

Question Number : 7 Question Id : 55213112532 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Field-work in research is mvolved in:

SEFow DY M &) HoSHe 850
&

Options :
Empirical
WeELE
55213149225.
Historical
oS
55213149226.
Experimental
BIFrES
55213149227.
All the above
55213149228.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 8 Question Id

3
5521311105

Yes

: 55213112533 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If a researcher conducts a research on finding out which administrative style contributes
more to institutional effectiveness ? This will be an example of

D Bodrore dopRo KodkNE MEFwS sS@ARITO™ SRUNn: of eodop ol

Options
Basic Research
BEo8 H0EHD
55213149229.
Action Research
Soedhs B0
55213149230.
Applied Research
@S0 H0-385S
55213149231. o
None of the above
RO Ty
55213149232.

Question Number : 9 Question Id : 55213112534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is not correct?

18 - r.'\,f;*' wh = Ty v T e P )
=00 TFPul” T (B3&aarlicn &

Ly



Options :

Obyectives of research are stated normally 1n first chapter of the thesis

Fordmore H08°G 006’ Imiid ermaodt S0 ogred B0,
55213149233.

Researcher must possess analytical ability
0D DI o) 59 somd
55213149234.

Variability 1s the source of problem

S6de Srordo $0SE5T Shrdres agrto
55213149235.

55213149236.

Question Number : 10 Question Id : 55213112535 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A null hypothesis states that

Sy (DN (PSR 3eR 0D

Options:
There 1s no significant difference between the variables
SorHeBH e rHGoSENS Sonogo B
55213149237.

Same as research hypothesis

HOSES (DEONSBI Gotnod
55213149238.



Research results are predictable
HeSETe HDTren SVOHITE &3ZrPoSSASEMT SOt
55213149239.

There is a significant difference between the variables
Sorde g MHZoBENR Somoio St
55213149240.

Sub-Section Number : 4
Sub-Section Id : 5521311106

Question Shuffling Allowed : No

Question Id : 55213112536 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :

Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

The IT'Ts are now under the scanner of the Supreme Court following an SLP for allegedly continiung
irregularities and bungling in JEE for admissions. The apex court has issued notice to the Ministry
of HRD. The SLP was filed by a CS Profat ITT Kharagpur challenging the dismissal ofhis PIL by
the Delhi High Court in June 2010 on the ground that he had no locus standi to challenge the
validity of JEE. They are vet to disclose the complete data of JEE 2010. The evaluation scheme
was changed after the examination and there were serious flaws in admission counselling based on
JEE 2010 results.

The SLP also called for a single entrance examination. replacing all existing exams as IIT JEE.
ATEEE and State exams. It further says that the RTT data on JEE was ridden with many discrepancies
as adhocism in cut off determination. unattended errors in question settings/evaluation. tampering/
shredding of ORS inundue haste. selecting IIT administrators’ wards in some ITTs. closed admission
counseling resulting in irregularities in admissions and seats lying vacant. zero accountability for
attending to apparent etrors, poor ethics in JEE administration etc.

Proposals for corrective reforms have also been suggested in the SLP. A committee of independent
experts to formulate single examination system rather than close-door committee of four IIT
Directors too has been suggested. It has proposed seven reforms for JAB including release of
model answers along with solutions immediately after the examination is over, releasing of marks
at the time of results besides publishing status of vacant seats and filled-in seats on day to day basis
during the adimission counselling.
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Sub questions

Question Number : 11 Question Id : 55213112537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

What 1s wrong with II'Ts now?

STy [ITS® 2200 ST HNE?

Options :
They have academic freedom.
08 TR0 KooGodS R &0l
55213149241, =
The get enough funds.
SN Agben FPoth&HT
55213149242.
There 1s mismanagement of admissions.
D& SerovoPudteisssten
55213149243.
Education in ITTs 1s very expensive.
[[Ted® 5tH) Trer pERIt.
55213149244,

Question Number : 12 Question Id : 55213112538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Why did the High Court dismiss SLP?
';3;"?% SLP Q0595 89 Jooh?
Options :

It has no truth mn 1t

TR SH0 B
55213149245.



Itis expensive
30 o RS0
55213149246.
Plamtitf does not belong to that area
Ro0dD & [FromEdl Told T R
55213149247.
The data was not correct
eR RORO =D
55213149248.

Question Number : 13 Question Id : 55213112539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



Which are not discrepancies of JEEs?
JEE G &°aren 5200 2D?
1L Cutoff determunation
Sedesn Q8o
1. Mistakes in question settmgs/evaluation
©H3 oD Ddord Do Srerostes® Edpen
m.  Tamperng of ORS leisurely
ORS 9 Taylre Shosto
. Selecting IIT administrators " wards i some ITTs
IIT Qoviren ) TEED 008 550
v.  Closed admission counseling with uregularities in admissions
$BEPRo®, B (H3F @B eEsren
.  Total filled seats
0 Dol Se DSoeen
vi.  Non-accountability for errors
e uromebsso 86
vi.  Bad ethics in JEE admuinistration

JEE ©&° ¢385 devde [@rsngrs

Options :

111 and vi

111 3050 Vi
55213149249,

nandv

1300 v
55213149250.

55213149251.



v and 1

Vil 300w 1

v and vit

1V s08ctn v
55213149252.

Question Number : 14 Question Id : 55213112540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the plan of the SLP?

SLP &n%) (Heds o20d?

Options :

To conduct a common entrance test

2.8 Arrde (BRE a..L.-S QG roSEeRs
55213149253.

To conduct tests at various levels

EeEAlw] :‘ﬂom &° ($3¥ HEZen RE-irosto
55213149254.

To mvite foreign admissions

Do BBTERos e Dosto
55213149255.

To mvest further m education

a,ci@" 00od mu”“ﬂ -y eﬁe:cﬁo
55213149256.



Question Number : 15 Question Id : 55213112541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

How can the examination system be improved?

SO D Der HIHDHDOL?
-

Options :

By going for online assessment

OIES 2RVoT D Ko T
55213149257.

By mntroducing CBTs

CBT o $0sabo Hahiso wooe
55213149258.

By making the examination descriptive

Davere)s 865 oo
55213149259.

By implementing the reforms

JoBred v Iabio TrT
55213149260. s
Sub-Section Number : 5
Sub-Section Id : 5521311107
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213112542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s called dyadic commumnication?

& (@00 8 DO BES 55 dNAT 09 DeSntHEod?

-

Options :

Intrapersonal communication

0I0F TR SredBHaS
55213149261.

Iutelpemoual commumication

5088 HHNS émﬁ::s’iﬁ
55213149262.

Group communication

PEPErS SHTTIEHS
55213149263.

Mass commuunication

P 2RS S0 OSES
55213149264.

Question Number : 17 Question Id : 55213112543 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Some of the following lines are not related to oral communication. Find them out;
& (8ob Doed® FR) TS Sirmd (@Hrcod® Sonogo 30N BY. ED STk,
1 [tisspontaneous and natural
50 SPEREDIO SO SPEDI
i [tisnotnatural
30 BP0 D
m Itiseasy for others to understand
s8heD ebo TE%iko ego
v, Itis somewhat difficult tounderstand
20 Fos S8 eo RS0 %0
v. Itdevelops a good relationship between a speaker and a listener
50 35 B0 JRr0 Hify Hod donored) §HA Fhod
v Choice of words 1s one of the major things
Hro Q085 @R0 (SN FaE wid
vii.  Itis supported by non-verbal communication
50 Bisrd SirarS (@ERrdo eraed) pedtRol
i Itisnot co-related with non-verbal communication
20 BUrd SarmroeRd SiFEdonotio =
The right answer according to the code i

55 (Hz80 $BX SaireFRo

Options:

L uandiv

1. 113508 1v
55213149265.

v. viand vi1

V. V1 2508050 vil
55213149266.

viL viil and 1

Vi1, Vi1l 00 1
55213149267.



1. 1vand v

11, 1V 300 Vil
55213149268.

Question Number : 18 Question Id : 55213112544 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the followmng :
& |Bol D wED0d

List -1 List-II
=lr-1 i -2
1. Physical Barriers . Semantics

T85 o 8 Boewsialn (ReiroéS)

2. Psychological Barriers b. Technology
SRRRE eode POSBES (Bed)
3. Lngwstic and Cultural Barriers c. Hall Temperature
‘ B i 5O e288
P4 HOa oK) 185 vhowe i3
4. Mechanical Barriers d.  Self-image
ol L2
DRSS eione o) Higw
Codes:
G
Options :
l-c, 2-d, 3-a, 4-b
552131492609.

1-b, 2-d, 3-a, 4-¢
55213149270.



55213149271, L& 2-d.3-¢, 4-D

1-d, 2-c, 3-a, 4-b
55213149272.

Question Number : 19 Question Id : 55213112545 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

communication includes individual reflection. and contemplation.

RoFRE’ ai;%r’ié @800 DO DINV0 ST,

Options :
Intra
2ESBo
55213149273. =
Inter
LOHSS
55213149274, 2
Mass
e e
55213149275.
Oral
%ﬂ@.g
55213149276.

Question Number : 20 Question Id : 55213112546 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the most important quality of a good teacher?

o) rHhsy ny) B8 ey eFeo Hnd?

) [y

Options :

Written commumnication skill only

088 J3rerordS KowoGoH Jeo IrE
55213149277.

Command of the subject

RT3 WBI Hew 50N oo
55213149278.

Distance from the students

e ool Erdore ot

-

55213149279.

Compassion for students

e ero 580 eoliéco

=) [

55213149280.
Sub-Section Number : 6
Sub-Section Id : 5521311108
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213112547 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A tram of length 120 meters long travelling with a speed of 54 kmph can cross a bridge of length X
in 30 seconds. The length of the bridge X (in meters) 1s

X Qe T $08%D 120 DY Pyie Ten, fotrdh 54 858 Twe Holrdr 30
26008 TEI6. 8 H088 TS ()

Options :

55213149281.

120
55213149282.

450
55213149283.

55213149284.

Question Number : 22 Question Id : 55213112548 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The compound mterest on the principal amount ‘P* for two years with the rate of 8% p.a. 1s Rs.
2.496. 1f the mterest 15 compounded annually. Then principal amount ‘P* 1s (in Rs.)

ATOQPN0 P’ 2 W06 )05 8% :Jt;is WP, B0 006 008 o B8 ar. 249
(509805055 BERKED HBB), @ond HFedN0 Errahod)
Options :

12,000
55213149285.

2496
55213149286.



15,000
55213149287.

20,000
55213149288.

Question Number : 23 Question Id : 55213112549 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A" and ‘B’ mvested an amount Rs 21,000 and 17,500 respectively in a business. At the end of the
year, they make a profit of Rs. 26.400. Their individual shares m the profit s

2.8 T5rlsne A HOOM B © DEPBEN SEXT EF. 21,000 O 8r. 17,500 2,
N0 YTP0eh TO eraiand &, 26,400, 7ol & 0 aeren (&, 0F)

Options :
1.440: 1.200
55213149289.

14.400: 12.000
55213149290.

12.000; 14.400
55213149291.

1.200:; 1.440
55213149292.

Question Number : 24 Question Id : 55213112550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If P’ can produce 60 cakes in 9 days and ‘Q” can produce 70 cakes m 21 days, The number of days
required to produce 100 cakes together (in days) 1s

P “‘*\J“feo 60 Hod 9 Szod sardBodiod. B ek 10 oo 21 Sred
Xr&Tahko. 8890 0% 100 30 ) Fred dordEs ’%@fo’

Options :

3
55213149293.

9
55213149294.

10
55213149295.

11
55213149296.

Question Number : 25 Question Id : 55213112551 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing number in the following sequence 1s:
1806 ngc‘fméé S HODS QO
4,12, 84, 3612,

Options :

6526884
55213149297.



6523272

e

55213149298.

Fep il
55213149299.

14448
55213149300.

Question Number : 26 Question Id : 55213112552 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing group of letters in the following sequence is:
i b b Y v, W
808 E00S” SD0DS @0F T°e HAFTO:

SAB, RBB, QCD,PDD, =, NFF

Options:

CBY
55213149301.

55213149302.

OEF
55213149303.

YD
55213149304.



Question Number : 27 Question Id : 55213112553 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘CGIN’ 1s related to “ACDEF’. in the same way ‘DINQ’ is related to
‘CGIN’ & ‘ACDF’ & 0200850 §0¢%. eF dsnm DINQ’ & Ho20855m

Options:

BEHJ
55213149305.

BEHI
55213149306.

BEGI
55213149307.

BEGI]
55213149308.

Question Number : 28 Question Id : 55213112554 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a certamn code language, 1f the word ‘SPHERE’ 1s coded as EREHPS, then how 1s the word
"EXHIBITION’ coded in that language

2.£ 0% §6 2726 SPHERE 00 ‘EREHPSTT 44000, & 66 27i® EXHIBITION’ 30
Jer §8 &onad

Options :



NOTITBIHXE

55213149309.

NOITIDIHXE
55213149310.

NOITIBIHWE
55213149311.

NOITIBIHXE
55213149312.

Question Number : 29 Question Id : 55213112555 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

X+Y means X 15 the son of Y. X~ Y means X is the daughter of Y. X x Y means X s the father of

Y. X/Y means X is the mother of Y. IfAxB/C-D/E. then A ts related to E i3
X+Y @ X, Y G08) . X- Y @dm X, Y 008, Srehd. X x Y o X, Y 008} ok, X/ Y
O X, Y 0% 0. AxB/C-D/E @ond A0 E &Ko H50aodm

Options:

Husband

230
55213149313.

Brother

FOBCD
55213149314,

Uncle

23°23P00 / 623%6N)
55213149315.



Brother in law

27 / 2”000
55213149316,

Question Number : 30 Question Id : 55213112556 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a class of students, 35 play cricket, 65 play football and 20 play both cricket and football. How
many students play at least one game.

28 SSEBSR Ao 55 500 B3 edad, 65 006 HEr)S sdeEd, HO0 20 H0O
Boch sten (B35 A H)er)6) ederd. Sdno 28 et e driden Jodd

Options :

100
55213149317.

120
55213149318.

&0
55213149319.

20

55213149320.
Sub-Section Number : 7
Sub-Section Id : 5521311109
Question Shuffling Allowed : No

Question Id : 55213112557 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (31 to 35)
Question Label : Comprehension

Note: The questions Q. 31 to Q. 35 are based on the following information:

Habd: 9400 Q.31 0 Q.35 508, 808 darardo errdom &) on.
The number of students passed in class X of a school, in the three sections A, B and C , i four
subjects: Mathematics, Physical Sciences, Biological Sciences and Social science, is presented in the
followmg multiple bar diagram. Assume the number of students i each section is 40.
W TS, 105 s518S, 2, B Q00 ¢ oF Srd drrod, Tol dadred:
i, T8 TR, A9 TR SO Fod T & 48888 dde doay, &
Bod amd Tyrdgos WébptaFw. W8 drfoda Amde wog; 4w

4000080 &arohsod,

Mathe Physical Biolog cal Social

Sub questions



Question Number : 31 Question Id : 55213112558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The maximum possible number of students in section A, who passed in all the four subjects is,
o 'y ] T .Y 4 4 v, £ P S I Y A i
derko A S &) deded, Tend oo, K8a0T Gad)B dmide do;,

Options :

28
55213149321.

31
55213149322.

39
55213149323.

26
55213149324,

Question Number : 32 Question Id : 55213112559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Out of the number of students passed in Physical Sciences, the pass percentage of students in section
Bis

T & — &y
FRETIT0S 68088 dde 2093, 8B 62 6808 dode Téo

Options :



55213149325.

31.95
55213149326.

32.98
55213149327.

35.05
55213149328.

Question Number : 33 Question Id : 55213112560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The number of students in section C who failed in biology is

TR, b oo e = f — T T " .Q’—:'ﬂ"\ﬂ*-. n o W e
BT R0 ORI, WE® 'C' SR T ;DO DO

Options:

55213149329.

55213149330.

11
55213149331.

14
55213149332.



Question Number : 34 Question Id : 55213112561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

On the three sections. the percentage of passing students in Mathematics is
Lurch Derme IS0, idsoS B o idhe Teo

Options :

40.3
55213149333.

68.4
55213149334.

13.3
55213149335.

80.8
55213149336.

Question Number : 35 Question Id : 55213112562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In which subject 89.166 percentage of students passed ?
P w4 = o - &y ;
D DACHO S 89.166 T°H0 HOO &3

Options :

55213149337.



Mathematics

HE3es 50

55213149338.

55213149339.

55213149340.

Physical Sciences
2T edE A e

Bilogical Sciences
2805 T Q3

Social Sciences
RO PAVEIE K [NV

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

8
5521311110

Yes

Question Number : 36 Question Id : 55213112563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
MICR stands for

MICRe&T

Options :

55213149341.

55213149342.

Magnetic Ink Character Reader

OIHTOS VTP BZTD) SO36

[="9

Magnetic Ink Code Reader

OIS VTP 558 3030



Magnetic Ink Cases Reader

©IHI8 bo ShHeod SO
55213149343.

Magnetic ink code recorder

©IHFES doe 558 TR0
55213149344,

Question Number : 37 Question Id : 55213112564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s embedded system?

QoTRE 5358 2d?
¥ @

Options :
The programme which arrives by being wrapped in box.
a5 ffn....' B'Ju @tm.’ﬁ

55213149345.
The programume which is the permanent part of the computer
Soel &8 gritorr Hot [BHrd

55213149346. =
The computer which 1s the part of a big computer
Y Sogeel grriore $o% Soxgeerl

55213149347.

The computer and software system that control the machine

a8 aholerd) B80T Sogeed ook FHI6
55213149348. = = "



Question Number : 38 Question Id : 55213112565 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Options :
Cookies
5r8)
55213149349, )
Plug-ns!
SR-38
55213149350.
Scripts
(8953
55213149351. ko
ASPs
55213149352.

Question Number : 39 Question Id : 55213112566 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Protocol used by e-mail 1s

e- oS 6 Fe® =5

Options :

FIP
55213149353.

TCP
55213149354.

ID
55213149355.

POP
55213149356.

Question Number : 40 Question Id : 55213112567 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

As apart of Government to Business (G2B) intfiative the Government of Inidia has started the

followmg protral

Sehdro Sood) dero (G2B) & erifore (réE (HehEo [Be80dods 208
4] o G W]

Options :
GEM
Tatesl Dy
55213149357.
Diamond
o

55213149358.



Gold

selelgilele)
55213149359.

Chanakva

eeese
55213149360. -

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

9

5521311111

Yes

Question Number : 41 Question Id : 55213112568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Chipko movement is a public agitation that occured in

Ty

2% stirho a8 20nol.
Options:

Mansbal area of kashmur

58,86°0 Srdfad (Frdo
55213149361. =

Silent valley of Kerala

-

8P Do

il

55213149362.

Sunderbans area of Bengal

Torre Jols 55;3
55213149363.

55213149364.



Ther1 Garhwal area of Uttar Pradesh

&8BNTIE®D BIr 1OS (Frodo

Question Number : 42 Question Id : 55213112569 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Higher amount of sulphur -dio-oxide (SO,) is emitted i the atmosphere by —

FES8eos® vfsor ¥e)6 Be8)E (SO,) & dbthe TR
Options :

Sugar Industry

S8 HOIER
55213149365. g

Thermal Power plants

585 D8 Soren
55213149366.

Food processing industry

©FE [aranof R0
55213149367.

Bulk drug manufacturing Industry

TR whs EJ.-'E.;.D SAPHTAD HOEH
55213149368.

Question Number : 43 Question Id : 55213112570 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Who said that the forest should be saved not because they are beautiful or because they shulter

wild creatures of the wilderness, but to only provide homes are jobs to people.

wotio 55ar B8 S de yievRs el =¥ BaeD 60, S Anerdd

©UIod Srbéored 00 ASh?

Options
Aido Leopold and Rachel Carson
08 OTFrS, O3S 2885
55213149369. =
Theodore Rosuest and pinchot
OTeE S S, Dot
55213149370. -
John muir and wangal Maathai
PR auronb, sond drmedd
55213149371.
David Brower and Barry Commoner
GO8 (58, =6 =0s8
55213149372.

Question Number : 44 Question Id : 55213112571 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Developing Nations were commutted fo drawing up their own plans for the emission reduction

for the first time m

e T0LER) Taped 4TFT0 B10GH 85 $r08 (HemdSe doind & SirFddod® Moot



Options :
Cop-20 Lima Climate Conference

.

B, r B s sl e, . el - all”

NEa=20 Dae Horratits Jarado
=

55213149373.
Cop-19 Warsaw Climate conference
& =19 Troe Hoereites & SrRdo
55213149374.
Cop-18 Doha Climate Conference
2e.2-18 P Homtes JErIdo
55213149375.
Cop-11 H}-’derabad climate conference
ded-11 Frioeerd HoeHde Sarado
55213149376.

Question Number : 45 Question Id : 55213112572 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The 2018 meeting of the G-7 Countries + k place in La Malbaie, Quebec, Canada and Donald
Trump administration officials even declined to use the phrase ‘climate change’ and instead talk

about
20186° e Srdirdh, 785, Sxeedt 20AS &-7 Do Sar3dodt ﬁ?mv ©0% ©lsd

=5
@&Per Dot Sr) OF Hed) PULPAS 859000, S0t atherr & %

Options :
Environmental resilience

Poerato umfad
55213149377. o



Sustainable Development

-

Ral(rday B
55213149378.

Ecological Economy

©0s Dot
55213149379. . =

Environmental Audit

Jorratoatore J0SEESo
55213149380.
Sub-Section Number : 10
Sub-Section Id : 5521311112
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 55213112573 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Today's Education system at higher education level is :

IO D I - SN DT %noaafﬁ & DFore &)

Options :

Supports traditional nature of teaching

Fodah S BEBD Doy
55213149381.

It is complex in reaching people

55213149382.



Imparts education according to social stratification

GeeloL-evt] ébé £ (@se8o DRotdol
55213149383.

Imparts same education to all strata of society

J3re06t) ©f Scre 08 e B 85305 SrS00%00
55213149384,

'L

Question Number : 47 Question Id : 55213112574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Autonomy in higher education doesn't include freedom for the institutions in:

= :;u

ﬁé&e’ &:F“R.’r:@ Erdhded "‘"w‘@ﬁ ) &oéwﬁo =

Options:

Achnjnismﬁoﬂ

HOTPeOTTOoTD

55213149385.

Policy-making

HEseoRd Brarofiosto
55213149386.

Fmance

elsroTeeD
55213149387.

Curriculum development

iﬂm‘;m?u DseRdo
55213149388.



Question Number : 48 Question Id : 55213112575 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Environmental education is important for the students of higher education because

68 [LHR0D e dovEte: D Erangro QothERm?

o

Options :
to give them expert knowledge
DHSH JHee; HPrY) wolEcHRS
552131493809. '
to develop their awareness
BTN DOl oSS
55213149390.
to make them responsible for taking care of environment
QDoeites HOOFRH wrLid HirolteR8
55213149391.
to leave them with their own choice towards future environmental consequences
A8 HorStes HorESTFeN $020008 O Hrah efSSH S0DTahmDS
55213149392. = =

Question Number : 49 Question Id : 55213112576 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

NAAC is an autonomous institution under the aegis of:

Jraho (H858He S0 NAAC 50 86508° HOTND?
3]

Options :



8. 2. DR, wR.es8
55213149393.

CSIR

. . 0.8
55213149394,

AICTE

a.0.0.8.9
55213149395,

UGC

Bk = 2

55213149396, o0&

Question Number : 50 Question Id : 55213112577 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Ancient Gurukulas differ from modem residential schools m providing except th following :

Yo oo™ MthHerer BHS BEDH FTeed®d Boff W) e.58 &) Shdrare

EZE:O:OBSJ

Options:
Accommodation
C‘C—..n\rﬁu{-r:\cm

55213149397, o o
Knowledge
DRSH DoeeRo

55213149398.

55213149399.



Vocational skills

AN T
oN€d Ao EFTENED
Bl e gl

Universal Access

8BS ©othoren

55213149400.

JOURNALISM AND MASS COMMUNICATION

Group Number:

Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

2
552131166
120

120

No

No

0

200

No

Cant View

No

JOURNALISM AND MASS COMMUNICATION

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

552131166
1

Online
Mandatory

96



Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

96

200

Yes

0
1
5521311113

Yes

Question Number : 51 Question Id : 55213112578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The 1nitial stage in interpersonal communication is called

Options :

Emphatic stage
55213149401.

Personal stage
55213149402.

Phatic stage
55213149403.

Emotional stage
55213149404.

Question Number : 52 Question Id : 55213112579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Author of One-Dimensional Man

Options :

Herbert Schiller
55213149405.

Herbert Marcuse
55213149406.

Herbert Spencer
55213149407.

Jurgen Hebermas
55213149408.

Question Number : 53 Question Id : 55213112580 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which theory deals with the structuring and organizing of messages?

Options :

Agenda Setting theory
552131494009.

Framing theory
55213149410.

Reception theory
55213149411.



Critical theory
55213149412.

Question Number : 54 Question Id : 55213112581 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which communication model deals with public opinion?

Options:

Helical model
55213149413.

Spiral of silence model
55213149414.

SMCR model
55213149415.

Gate keeper model

55213149416.

Question Number : 55 Question Id : 55213112582 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The important feature of Aristotelian model of communication 1s

Options :

55213149417.



Emphasis on communicator

Emphasis on receiver

55213149418.

Stress on empathy
55213149419.

Relationship between communicator and receiver symmetrical
55213149420.

Question Number : 56 Question Id : 55213112583 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Section 153 A of IPC deals with

Options:

Sedition
55213149421.

Creating the feelings of hatred
55213149422.

Obscenity
55213149423.

Detamation
55213149424,



Question Number : 57 Question Id : 55213112584 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
White balance in video camera is adjusted before shooting to

Options :

Create snow effect
55213149425.

Maintain color accuracy
55213149426.

Increase brightness
55213149427.

Adjust contrast
55213149428.

Question Number : 58 Question Id : 55213112585 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

1s used to indicate the lapse of time.

Options :

—

Cut
55213149429.

Dissolve
55213149430.



Fade
55213149431.

Wipe
55213149432.

Question Number : 59 Question Id : 55213112586 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Article 361 A of Indian Constitution deals with

Options :

Publication of the proceedings of Parliament
55213149433. =

Publication of the proceedings of Cabinet
55213149434.

Publication of the proceedings of Judiciary
55213149435.

Publication of the proceedings of Election Commission
55213149436.
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According to ‘Diffusion of Innovations Theory’ the percentage of Innovators 1s

Options :

2.5
55213149437.

7.5
55213149438.

125
55213149439.

14
55213149440.
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The major cost item for a newspaper 1s

Options :

Wages of staff
55213149441.

Newsprint
55213149442,

Marketing costs
55213149443.

Transport
55213149444,
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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In video camera. ND filters are used to
Options :

Change the actual colour
55213149445,

Reduce the intensity of light
55213149446.

Increase the intensity of light
55213149447.

Maintain colour accuracy
55213149448.
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Which committee recommended permitting franchise stations?

Options :

Khosla Committee
55213149449,



A K.Chanda Committee

55213149450.

B.G.Verghese Committee
55213149451.

Varadhan Committee
55213149452.
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In India foreign direct investment limit in films is

Options :

55213149453.

A004
55213149454, 1270

74%
55213149455.

100%
55213149456.
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Who directed the film Moana?

Options :

Robert Flaherty
55213149457.

John Grierson
55213149458.

Alfred Hitchcock
55213149459,

Ingmar Bergman
55213149460.
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In digital mass communication. the audience 1s

Options:
Large
55213149461.
Passive
55213149462.
Participatory

55213149463.



Global
55213149464.
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Correct Marks : 2 Wrong Marks : 0

When the advertising objective is to build primary demand for a new product category. advertising is
most likely be

Options:
Persuasive

55213149465.

Comparative
55213149466.

Informative
55213149467.

Patronage
55213149468.
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The first ombudsman for any newspaper in the world was appointed in

Options :



Sweden

55213149469.

Japan
55213149470.

Austria
55213149471.

Great Britain
55213149472.
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SITE programmes were telecast in

Options :

Hindi. Tamil. Telugu. Oria
55213149473.

Hindi. Kannada. Tamil.Bengali
55213149474,

Hindi. Kannada.Telugu . Tamil
55213149475.

Hindi.Kannada.Oria . Telugu
55213149476.
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Which shot 1s used to show the strength of a person?

Options:
High angle shot
55213149477.
Low angle shot
55213149478.
Wide angle shot
55213149479.
Narrow angle shot
55213149480.

Question Number : 71 Question Id : 55213112598 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Which communication model deals with the fear of 1solation?
Options :

Helical model
55213149481.

ABX model
55213149482.



Spiral of Silence model
55213149483.

Gate Keeper model
55213149484.
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In TV News. Mosaic 15 used
Options :

To decorate the background
55213149485.

To super impose visuals on background
55213149486.

To block the faces of rape victims. child abuse etc.
55213149487.

To focus attention on a specific area of the frame
55213149488.
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Who 1s the author of S/Z 7

Options :

Wilbur Schramm
55213149489.

Roland Barthes
55213149490.

Daniel Lemer
55213149491.

Everett Hegan
55213149492.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Correct Marks : 2 Wrong Marks : 0
Chi-square test 1s done to
Options :

Determine the adequacy of samples
55213149493.

Test the instrument of data collection
55213149494,

Test the hypothesis
55213149495.

Assess the viewership
55213149496.



Question Number : 75 Question Id : 55213112602 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Control groups are used in
Options :

Case study method
55213149497.

Survey method
55213149498.

Experimental method
55213149499.

Longitudinal research
55213149500.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Correct Marks : 2 Wrong Marks : 0
Which test statistic 1s used for a global test of significance?
Options :

Z test
55213149501.



f test
55213149502.

Chi-square test
55213149503.

F test
55213149504,
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The term “Positioning”™ was first comned by
Options :

David Ogilvy
55213149505.

James Mac Carthy
55213149506.

Neil Borden
55213149507.

Al Ries and Jack Trout
55213149508.
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Correct Marks : 2 Wrong Marks : 0

The relationship between focal length and depth of field is

Options :

As the focal length decreases. the depth of field increases
552131495009.

As the focal length increases. the depth of field increases
55213149510.

There 1s no difference between focal length and depth of field
55213149511.

55213149512, There is no relationship between focal length and depth of field
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The International Programme for Development of Communications(IPDC) focuses on
Options:

Telecommunications
55213149513.

Digital media
55213149514.

Traditional media
55213149515.

Community media
55213149516.
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ensures that the publishers recover their advertising money from ad agencies.

Options :

AAAT
55213149517.

ASCI
55213149518.
55213149519.

ABC
55213149520.
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A special feature of a product or service that becomes the focus of the selling message:
Options :

Tactics
55213149521.



Vision

55213149522.

USP
55213149523.

View point
55213149524.
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A time period directly preceding and following prime time on TV 1s called as

Options :

Fringe time
55213149525.

Green advertising
55213149526.

Holding power
55213149527.

Infomercial
55213149528.

Question Number : 83 Question Id : 55213112610 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Rod puppets are widely prevalent in

Options :

Telangana
55213149529.

Karnataka
55213149530.

Rajasthan
55213149531.

West Bengal
55213149532.
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Who 1s credited with the creation of World Wide Web?
Options:

Leonard Kleinrock
55213149533.

Tim Bermners-Lee
55213149534,

J.C.R. Licklider
55213149535.



Sergel Brin & Larry Page
55213149536.
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was the first private sector Internet Service Provider in India.

Options :

Sify
55213149537.

Tata
55213149538.

Reliance
55213149539,

Airtel
55213149540.
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Which of the following involves presenting patterns of data m visual form coupled with

explanatory text in a self- contained box?



Options :

[lustration
55213149541.

News story
55213149542.

Infographic
55213149543.

Side bar
55213149544,
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The weekend edition of Minf 1s called

Options :

Lounge
55213149545.

Eve

-

55213149546.

Blink
55213149547.

55213149548, L€
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Which of the following is a way a website or service can allow integration of its contents into

other websites?

Options :

Application Programming Interface
55213149549.

Rich Site Summary (RSS)
55213149550.

Widget
55213149551.

Hyper text
55213149552.
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Identify an American news site that operates in India in partnership with the times group.
Options :

Scroll
55213149553,



HuttPost
55213149554,

TheWire
55213149555,

The First post
55213149556.
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All India Radio started External Services first in language
Options:
Pashto
55213149557.
English
55213149558.
Kurdish
55213149559.
Hindusthani
55213149560.
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Pandit Madan Mohan Malaviya was associated with

Note: For this question, discrepancy is found in
qguestion/answer. Full Marks is being awarded to

all candidates.

Options :

Aaj
55213149561.

Navajeevan
55213149562.

National Herald
55213149563.

The Independent
55213149564.
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After the completion of registration process, the first issue of a daily newspaper should be

published within days.

Options:



L]
=

55213149565.

45
55213149566.

60
55213149567.

90
55213149568.
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NWICO demand concerns
Options :
Privatization of telecommunications

55213149569.

Free flow of capital in media industries
55213149570.

Security of journalists in foreign countries
55213149571.

Equitable flow of news across international boarders
55213149572.

Question Number : 94 Question Id : 55213112621 Question Type : MCQ Option Shuffling : Yes
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20:20 media 1s

Options :

An Advertising Agency
55213149573.

Voter Survey Agency
55213149574.

News Agency
55213149575.

Public Relations Agency
55213149576.
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In Semiotics. signification refers to
Options:

Generation of meaning
55213149577.

Distortion in the meaning
55213149578.



Relationship between the signifier and signified
55213149579.

Relationship between codes and signs
55213149580.
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Code of Brussels is related to

Options :

New Media
55213149581.

Advertising
55213149582.

Television
55213149583.

Public Relations
55213149584,
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Which article of the Indian Constitution provides for freedom to practice any profession?

Options :

19 (B)
55213149585.

19 (D)
55213149586.

19 (E)
55213149587.

19 (G)
55213149588.
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is the author of Bevond the Lines: An Autobiography.

Options :

Kushwant Singh
552131495809.

B.G.Verghese
55213149590.

Kuldip Nayar
55213149591.

Pranoy Roy
55213149592.
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House of Cards 1s
Options :

TV serial
55213149593.

Radio seral
55213149594,

Web series
55213149595,

Radio drama
55213149596.
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‘Our Common Future’ is the report of
Options:

Brundtland Commission
55213149597.



Mac Bride Commission
55213149598.

Hutchins Commission
55213149599,

Planning Comimission of India
55213149600.
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Assertion (A): Advertising Standards Council of India(ASCT) adopted a Code
for Self-Regulation i Advertising,
Reason (R): ASCT s a statutory body working under the Ministry of Information and Broadcasting.
Options :
Both (A) and (R) are true
55213149601.

Both (A) and (R) are true. but (R) is not the correct explanation of (A)
55213149602.

(A) 1s true. but (R) 1s false
55213149603.

(A) is false. but (R) is true
55213149604.
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Assertion (A): In a group situation the election of a chairman involves a
decision that calls for considerable interaction.

Reason (R): The essence of group discussion skills is based on the ability to
develop our skill in joint decision-making.

Options :

Both (A) and (R) are true
55213149605.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
55213149606.

(A) 1s true. but (R) 1s false
55213149607.

(A) 1s false. but (R) 1s true
55213149608.
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Assertion (A): TRAI supported net-neutrality through its prohubition of discriminatory tariffs.

Reason (R): TRAIL is a statutory body that plays a crucial role i policy formulation on telecommunications.

Options :

Both (A) and (R) are true
552131496009.



Both (A) and (R) are true. but (R) is not the correct explanation of (A)
55213149610.

(A) 1s true. but (R) is false
55213149611.

(A) is false. but (R) is true
55213149612.
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Assertion (A): The Broadcasting Content Complaints Council (BCCC) deals with complaints on
television channels.

Reason (R): It 1s a statutory body working under the Ministry of Information and Broadcasting.
Options:

Both (A) and (R) are true
55213149613.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
55213149614.

(A) 1s true. but (R) is false
55213149615.

(A) 1s false. but (R) 1s true
55213149616.

Question Number : 105 Question Id : 55213112632 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Assertion (A): A number of web series incorporate interactive Web 2.0 features on their producer’s websites.

Reason (R): The Web 2.0 features enable viewers and fans to post comments online about episodes.

Options :

Both (A) and (R) are true
55213149617. ’ '

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
55213149618.

(A) 1s true. but (R) 1s false
55213149619.

(A) 1s false, but (R) is true
55213149620.

Question Number : 106 Question Id : 55213112633 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Assertion (A): E-journals and magazines are gaining acceptability even in developing countries.

Reason (R): Increased net connectivity with mobile penetration have contributed to this phenomenon.

Options :

Both (A) and (R) are true
55213149621.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
55213149622.



(A) is true. but (R) 1s false
55213149623.

(A) 1s false. but (R) 1s true
55213149624.

Question Number : 107 Question Id : 55213112634 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): "The free flow of information" 1s a Western concept, by which almost all Western countries
rationalize the operations of their media.

Reason (R): Western countries fought for free and balanced flow of nformation.

Options :

Both (A) and (R) are true
55213149625.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
55213149626.

(A) 1s true. but (R) is false
55213149627.

55213149628, (A) 1s false, but (R) is true

Question Number : 108 Question Id : 55213112635 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Assertion (A): PR 2.0 became a part of our PR practices to raise awareness, build relationships. create and
maintain a posttive image. and increase overall brand exposure.
Reason (R): PR Agencies contribute to enhance the image of organizations.

Options :

Both (A) and (R) are true
55213149629.

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
55213149630.

(A) 1s true, but (R) 1s false
55213149631.

55213149632 (A) is false. but (R) is true

Question Number : 109 Question Id : 55213112636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Assertion (A): The Communication approach of dominant paradigm laid emphasis on ufilization of
traditional folk media.

Reason (R): Traditional folk media are very effective as channels of communication in rural areas.
Options :

Both (A) and (R) are true
55213149633.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
55213149634.

(A) 1s true. but (R) is false
55213149635.



(A) 1s false. but (R) is true
55213149636.

Question Number : 110 Question Id : 55213112637 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Assertion (A): Parliament is empowered by the Constitution to punish for its contempt arising from the
breach of its privileges.
Reason (R): Contempt of the House 1s a reasonable restriction on freedom of speech and expression
under article 19(2).

Options:

Both (A) and (R) are true
55213149637.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
55213149638.

(A) 1s true. but (R) 1s false
55213149639.

(A) 1s false. but (R) is true
55213149640.

Question Number : 111 Question Id : 55213112638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Assertion (A): Katz and Lazarsfeld used meta-analysis to develop the two-step flow hypothesis.

Reason (R): A meta-analysis is a statistical analysis that combines the results of multiple scientific studies.

Options :

Both (A) and (R) are true
55213149641.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
55213149642.

(A) 1s true. but (R) is false
55213149643.

(A) 1s false. but (R) is true
55213149644.

Question Number : 112 Question Id : 55213112639 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Television production is a team work.
Reason (R): Camera work is described as writing with lighting.

Options :

Both (A) and (R) are true
55213149645.

Both (A) and (R) are true. but (R) is not the correct explanation of (A)
55213149646.

(A) 1s true. but (R) 1s false
55213149647.

55213149648.



(A) 1s false. but (R) is true

Question Number : 113 Question Id : 55213112640 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Assertion (A): Data journalism is gaining importance in India.
Reason (R): Data journalism can help a journalist tell a complex story through infographics.
Options :

Both (A) and (R) are true
55213149649.

Both (A) and (R) are true. but (R) is not the correct explanation of (A)
55213149650.

(A) 1s true. but (R) 1s false
55213149651.

(A) 1s false. but (R) 1s true
55213149652.

Question Number : 114 Question Id : 55213112641 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Effective communicators do have empathy.
Reason (R): Empathy is nothing but sympathy for others.

Options :



Both (A) and (R) are true
55213149653.

Both (A) and (R) are true. but (R) is not the correct explanation of (A)
55213149654.

(A) 1s true. but (R) 1s false
55213149655.

(A) 1s false. but (R) 1s true
55213149656.

Question Number : 115 Question Id : 55213112642 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): All India Radio and Doordarshan were separated in 1967.
Reason (B): Dr.Bhagavantam Committee recommended separation of AIR and DD.

Options:

Both (A) and (R) are true
55213149657.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
55213149658.

(A) 1s true. but (R) is false
55213149659.

(A) 1s false. but (R) is true
55213149660.



Question Number : 116 Question Id : 55213112643 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence in Freytag’s dramatic structure

Options :

Exposition. rising of action, climax. falling of action. denouement
55213149661.

Rising of action. exposition. falling of action. denouement. climax
55213149662.

Falling of action. rising of action. denouement. climax. exposition
55213149663.

Denouement, falling of action. rising of action. exposition. climax.
55213149664.

Question Number : 117 Question Id : 55213112644 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Identify the correct sequence
Options :

Perception. exposure. attention. retention
55213149665.

Attention. perception. retention. exposure
55213149666.



Exposure. attention. perception. retention
55213149667.

Aftention. exposure. retention. perception
55213149668.

Question Number : 118 Question Id : 55213112645 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Identify the chronological order of Satyajit Ray’s movies.
Options :

Apu Triology.Charulatha. Sonar Kella.Devi
55213149669.

Charulatha. Devi. Sonar Kella. Apu Triology
55213149670.

Sonar Kella.Devi. Apu Triology.Charulatha.
55213149671.

Devi. Sonar Kella. Charulatha. Apu Triology
55213149672.

Question Number : 119 Question Id : 55213112646 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of arrangement of light
Options :

fill light. Key light.Background light. Back light
55213149673.

Key light. Back light. Background light. fill light
55213149674.

Background light. Back light.fill light. Key light
55213149675.

Back light. Background light. Key light. fill light
55213149676.

Question Number : 120 Question Id : 55213112647 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the soap operas
Options :

Maha Bharat. Ramayan. Jai Hanuman. Tippu Sultan
55213149677.

Jai Hanuman. Ramayan. Maha Bharat. Tippu Sultan
55213149678.

Tippu Sultan. Maha Bharat. Ramayan.Jai Hanuman
55213149679.

Ramayan.Maha Bharat. Tippu Sultan_Jai Hanuman
55213149680. :



Question Number : 121 Question Id : 55213112648 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the chronological order of the Telugu news-dailies
Options :

Golkonda Pathrika. Krishna Pathrika. Andhra Pathrika. Andhra Prabha
55213149681.

Krishna Pathrika. Andhra Pathrika. Golkonda Pathrika. Andhra Prabha
55213149682.

Golakonda Pathrika. Krishna Pathrika. Andhra Prabha. Andhra Pathrika
55213149683.

Andhra Pathrika. Andhra Prabha. Krishna Pathrika. Golakonda Pathrika
55213149684.

Question Number : 122 Question Id : 55213112649 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Identify the chronological order of the following committees
Options:
Kuldeep Nair Commuttee . Khosla Commutte, P.C.Joshi Commitee, AK Chanda Committee

55213149685.

Khosla Committe, P.C.Joshi Commitee, AK Chanda Commuttee, Kuldeep Nair Commuttee
55213149686.



c£213149687. Khosla Committe, AK Chanda Committee, Kuldeep Nair Committee . P.C.Joshi Cominitee

AK Chanda Committee. Khosla Committe . Kuldip Nayar Commuttee . P.C.Joshi Commitee
55213149688.

Question Number : 123 Question Id : 55213112650 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of different language newspapers in India by circulation  volume in
descending order.

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options:

English. Hindi. Marathi, Bengali
55213149689.

Hindi. English, Bengali. Marathi
55213149690.

Hindi. Bengali. English. Marathi
55213149691.

Hindi. Marathi,Bengali. English
55213149692.



Question Number : 124 Question Id : 55213112651 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological order of the Chairmen of Press Council of India.
Options :

P.B.Sawant. Jayachandra Reddy. C.K.Prasad. Markandey Kartju
55213149693.

Jayachandra Reddy. P.B.Sawant. C.K.Prasad. Markandey Kartju
55213149694.

C.K.Prasad. Jayachandra Reddy. P.B.Sawant. Markandey Kartju
55213149695.

Jayachandra Reddy. P.B.Sawant. Markandey Kartju. C.K Prasad
55213149696.

Question Number : 125 Question Id : 55213112652 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Identify the correct chronological order of the following publications.
Options:
Mumbai Samachar.The Durpan. Dig-Darshan. Samachar Darpan

55213149697.

Mumbai Samachar. The Durpan. Samachar Darpan.Dig-Darshan
55213149698.



Dig-Darshan.Samachar Darpan. Mumbai Samachar The Durpan.
55213149699.

Samachar Darpan. Mumbai Samachar. Dig-Darshan. The Durpan
55213149700.

Question Number : 126 Question Id : 55213112653 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Identify the chronological order of the establishment of the international organizations:
Options :

IP1, ITU. IFJ, AMIC
55213149701.

ITU, IPI, IFJ, AMIC
55213149702.

ITU IPLAMIC, IFJ
55213149703.

ITUIFJ, IPI. AMIC
55213149704.

Question Number : 127 Question Id : 55213112654 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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The advertisement revenue share in India among different media in descending order

Options :

Television. Print Media. Radio. Outdoor Media. Internet
55213149705.

Print Media. Television. Outdoor Media. Radio. Internet
55213149706.

Print Media. Radio. Television. Outdoor Media. Internet
55213149707.

Print Media. Television. Outdoor Media. Internet. Radio
55213149708.

Question Number : 128 Question Id : 55213112655 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological order of the Wage Boards.
Options :

Palekar Wage Board. Bachavat Wage Board. Manisana Wage Board. Majithia Wage Board
552131497009.

Palekar Wage Board. Bachavat Wage Board . Majithia Wage Board. Manisana Wage Board.
55213149710.

Bachavat Wage Board . Palekar Wage Board. Majithia Wage Board, Manisana Wage Board.
55213149711. B B - -

Bachavat Wage Board . Palekar Wage Board. Manisana Wage Board. Majithia Wage Board.
55213149712. B - - -



Question Number : 129 Question Id : 55213112656 Question Type : MCQ Option Shuffling : Yes
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Identify the correct chronological order of the following

Options :

AAAI RNI. PRSI. ASCI
55213149713.

AAAT. ASCIL RNI PRSI
55213149714.

AAAT. ASCI. PRSI RNI
55213149715.

PRCIL ASCI. AAAI.RNI
55213149716.

Question Number : 130 Question Id : 55213112657 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Identify the correct chronological order of the following.
Options :

Face book. Twitter. You tube. Instagram. Linked In
55213149717.

Twitter. Face book. You tube. Instagram. Linked In
55213149718. i



You tube. Face book. Twitter. Instagram. Linked In
552131497109.

Linked In. Face book. You tube . Twitter. Instagram
55213149720.

Question Number : 131 Question Id : 55213112658 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Match the following

List — 1 List — 11
Camera parts/functions Effects
1. Imis a. Size of the picture
2. White balance b. Colour correction
3 e c. Intensity of light
4. Lenses d. Resolution
Options :
1-¢c. 2-b. 3-d. 4-a
55213149721.
1-a. 2-b. 3-d. 4-¢
55213149722.
1-b. 2-d. 3-a. 4-¢
55213149723.
1-d. 2-¢c. 3-b. 4-a
55213149724.

Question Number : 132 Question Id : 55213112659 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Match the following
List —1 List—1II
Title of the books Names of the authors of the books

1. Gulty Men of India’s Partition a. Dr.Ram Manohar Lohia
2. The Immanence of God b. Dr.B.R. Ambedkar
3. Political Diary ¢. Pandit Madan Mohan Malaviya
4. The Buddha and His Dhamma  d. Deen Dayal Upadhyaya
Options:

1-c. 2-a. 3-d. 4-b
55213149725.

1-a. 2-c. 3-d. 4-b
55213149726.

1-b. 2-d. 3-a. 4-c
55213149727.

1-d. 2-c. 3-a. 4-b
55213149728.
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Match the following

List-I List-II
Experts Field of expertise
1. Richard F. Outcault a. Community video
2. Don Snowden b. Photo journalism
3. Roger Fenton ¢. Cartoon journalism
4. Irna Philips d. Soap opera
Options :
l1-c. 2-a. 3-b, 4-d
55213149729.
1-a. 2-c. 3-d. 4-b
55213149730.
1-b. 2-d. 3-a. 4-c
55213149731.
1-d. 2-c. 3-b. 4-a
55213149732.

Question Number : 134 Question Id : 55213112661 Question Type : MCQ Option Shuffling : Yes
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Match the following

List-1 List-1I
Tests Purposes
1. T-test a. Prediction
2. Chi Square b. Association
3. Regression c. Means of two groups
4. ANOVA d. Variance in groups

Options :



1-d. 2-c. 3-b. 4-a

55213149733
-a. 2-b. 3-¢c. 4-
55213149734, L3 270, 3-c.4-d
1-b. 2-c. 3-a. 4-d
55213149735.
1-¢. 2-b. 3-a. 4-d
55213149736.

Question Number : 135 Question Id : 55213112662 Question Type : MCQ Option Shuffling : Yes
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Match the following

List-I List-II
Scholars Concepts
1. Dawvid McClelland a. Stages of Economic Growth
2. Daniel Lerner b. Empathy
3. Walt Rostov c. Conscientization
4. Paulo Freire d. n-ach
Options :
1-d. 2-b. 3-a. 4-c
55213149737.
1-a. 2-d. 3-c. 4-b
55213149738.

l1-a. 2-b. 3-c. 4-d
55213149739.



1-b. 2-a. 3-c. 4-d
55213149740.

Question Number : 136 Question Id : 55213112663 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Match the following

List-I List-I1
Media Organizations/ Places
Institutes
1. PII a. Pune
2. ‘FTIH b. Chennai
3. NEDC ¢. New Delhi
4. MCRC d. Mumbai
Options :
1-d. 2-b. 3-a. 4-c
55213149741.
1-b. 2-c. 3-a. 4-d
55213149742,
1-d. 2-c. 3-a. 4-b
55213149743.
1-b. 2-a. 3-d. 4-c
55213149744.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following

List-1 List-II
Theories Scholars
1. Cultivation theory a. George Gerbner
2. Inoculation theory b. Charles Osgood
3. Systematic Behavior theory ¢. William J McGuire
4. Congruity theory d. Clark L.Hull
Options:
1-a. 2-b. 3-c. 4-d
55213149745.
1-a. 2-b. 3-d. 4-c
55213149746.
1-b. 2-a. 3-c. 4-d
55213149747.
1-a. 2-c. 3-d. 4-b
55213149748.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following

List-1 List-IT
Research methods Important features
1. Survey a. Control groups
2. Experimental method b. Sampling
3. Longitudinal research ¢. Classification
4. Content Analysis d. Panels



Options :
1-b. 2-d. 3-c. 4-a

55213149749.

1-a. 2-b. 3-d. 4-¢
55213149750.

1-b. 2-a. 3-d. 4-¢
55213149751.

l1-¢. 2-a. 3-b. 4-d
55213149752,

Question Number : 139 Question Id : 55213112666 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following

List-I List-I1
Newspapers Special pages
1. Sakshi a. Vasundhara
2. Namasthe Telangana b. Cheli
3. Vaartha C. Familv
4. Eenadu d. Zjudani
Options:
1-d. 2-b. 3-c. 4-a
55213149753.
l-c. 2-b. 3-d. 4-a
55213149754,

1-b. 2-d. 3-c. 4-a
55213149755.



1-¢. 2-d. 3-b. 4-a
55213149756.

Question Number : 140 Question Id : 55213112667 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following

List—1 List —1II
International organizations Headquarters
1. IPI a. Brussels
2. IFJ b. Vienna
3. ITU c. Geneva
4. AMIC d. Manila
Options :
1-¢c. 2-b. 3-d. 4-a
55213149757.
1-a, 2-c. 3-d. 4-b
55213149758.
1-b. 2-a. 3-c. 4-d
55213149759.
1-d. 2-c. 3-b. 4-a
55213149760.

Question Number : 141 Question Id : 55213112668 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following

List—1 List —1II
PR models Characteristics
1. Asymmetric a. One way. imbalanced
2. Press Agentry b. Disseminate Govt.information
3. Public information  ¢. Two way. presence of feedback
4. Symmetric d. Publicity
Options :
1-¢c. 2-b. 3-d. 4-a
55213149761.
1-a. 2-d. 3-b. 4-¢c
55213149762.
l-a. 2-¢. 3-d. 4-b
55213149763.
1-a. 2-d. 3-c. 4-b
55213149764.

Question Number : 142 Question Id : 55213112669 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following

List—1 List—1II
Types of advertising Purposes
1. Informative a. Selective demand
2. Persuasion b. Primary demand
3. Reminder ¢. Undifferentiated brands
4. Heavy advertising d. Maturity stage
Options :
1-b. 2-¢c. 3-a. 4-d
55213149765.
1-a. 2-d. 3-c. 4-b
55213149766.
1-b. 2-a. 3-d. 4-c
55213149767.
1-d. 2-¢c. 3-b. 4-a
55213149768.

Question Number : 143 Question Id : 55213112670 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following

List-1 List-II
Theorists The concepts / Theories
1. Albert Bandura a. Mediascapes
2. Appadurai b. Social learning theory
3. Grunig ¢. Stakeholders theory
4. Freeman d. Theory of Excellence
Options:

1-d. 2-c. 3-b. 4-a
55213149769.

1-b. 2-d. 3-¢c. 4-a
55213149770.

1-b. 2-a. 3-d. 4-c

55213149771.

1-¢c. 2-d. 3-a. 4-b
55213149772.

Question Number : 144 Question Id : 55213112671 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following

List—1I List—1II
Online journalism aspects Purposes
1. Shovelware a. First version of the story for online editing
2. Pre-purposing b. Shifting content from print/electronic to web
3. Layered news ¢. A nux of audio video/text, graphics
4. Convergence d. News which is embedded and has to be explored
Options :
1-b. 2-a. 3-d. 4-c
55213149773.
l-a. 2-d. 3-c. 4-b
55213149774.
1-b. 2-a. 3-c. 4-d
55213149775.
1-d. 2-c. 3-b. 4-a
55213149776.

Question Number : 145 Question Id : 55213112672 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following

List—1I List—1II
Agricultural programs Television channels
1. Nelathalli a. HMTV
3. Chenu-Chelaka b. T News
4. Sagubadi c. Sakshi
5. Annapurna d. TV-5
Options :
1-a. 2-b. 3-c. 4-d
55213149777.
1-b. 2-a. 3-c. 4-d
55213149778.
1-c. 2-a. 3-b. 4-d
55213149779.
1-d. 2-b. 3-c. 4-a
55213149780.
Sub-Section Number : 2
Sub-Section Id : 5521311114
Question Shuffling Allowed : No

Question Id : 55213112673 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (146 to 150)

Question Label : Comprehension



Answer questions 96-100 based on the following passage :

In regard to propaganda the early advocates of universal literacy and a free press envisaged only two
possibilities: the propaganda might be true. or it might be false. They did not foresee what in fact has
happened. above all in our Western capitalist democracies - the development of a vast mass
communications industry. concerned in the main neither with the true nor the false. but with the unreal.
the more or less totally irrelevant. In a word. they failed to take into account man's almost infinite appetite
for distractions. In the past most people never got a chance of fully satisfying this appetite. They might
long for distractions. but the distractions were not provided. Christmas came but once a year. feasts were
"solemn and rare." there were few readers and wvery little to read. and the nearest approach to a
neighborhood movie theater was the parish church, where the performances. though infrequent. were
somewhat monotonous. For conditions even remotely comparable to those now prevailing we must return
to imperial Rome, where the populace was kept in good humor by frequent. gratuitous doses of many
kinds of entertainment - from poetical dramas to gladiatorial fights. from recitations of Virgil to all-out
boxing. from concert to military reviews and public executions. But even in Rome there was nothing like
the non-stop distraction now provided by newspapers and magazines, by radio. television and the cinema.
In Brave New World non-stop distractions of the most fascinating nature (the feelies. orgy-porgy.
centrifugal bumble puppy) are deliberately used as instruments of policy. for the purpose of preventing
people from paying too much attention to the realities of the social and political situation. The other world
of religion is different from the other world of entertainment: but they resemble one another in being most
decidedly "not of this world." Both are distractions and. if lived in too continuously, both can become, in
Marx's phrase, "the opium of the people" and so a threat to freedom. Only the vigilant can maintain their
liberties. and only those who are constantly and intelligently on the spot can hope to govern themselves
effectively by democratic procedures. A society. most of whose members spend a great part of their time.
.not on the spot, not here and now and in the calculable future. but somewhere else, in the irrelevant other
worlds of sport and soap opera. of mythology and metaphysical fantasy. will find it hard to resist the

encroachments of those who would manipulate and control it.

In their propaganda today's dictators rely for the most part on repetition. suppression and rationalization —
.the repetition of catchwords which they wish to be accepted as true. the suppression of facts which they
wish to be ignored, the arousal and rationalization of passions which may be used in the interests of the
Party or the State. As the art and science of manipulation come to be better understood. the dictators of the
future will doubtless learn to combine these techniques with the non-stop distractions which. in the West.
are now threatening to drown in a sea of irrelevance the rational propaganda essential to the maintenance

of individual liberty and the survival of democratic institutions.

Sub questions

Question Number : 146 Question Id : 55213112674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0
The author would be most likely to agree that propaganda
Options:

can serve a vital function in democracy
55213149781.

1s concerned mainly with the urelevant
55213149782.

1s now combined with entertainment
55213149783.

is universally recognized as a danger
55213149784.

Question Number : 147 Question Id : 55213112675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The early advocates of universal literacy are mentioned as

Options :

advocates of propaganda
55213149785.

opponents of an idea that the author thinks 1s correct
55213149786.



proponents of an idea that the author wishes to counter
55213149787.

people who made wrong predictions about freedom of the press
55213149788.

Question Number : 148 Question Id : 55213112676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The author refers to “Brave New World™ as a fictional example of a society in which

Options :

non-stop distractions are the main instrument of government policy
552131497809.

people are totally unaware of political realities
55213149790.

entertainment 1s used to keep people from full awareness of social realities
55213149791.

entertainment resembles religion in its effects on the masses
55213149792.

Question Number : 149 Question Id : 55213112677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



Yes

Correct Marks : 2 Wrong Marks : 0

By “intelligently on the spot” the author apparently means
Options :

alert to the dangers of propaganda
55213149793.

in a particular society at a particular time
55213149794.

in a specific time and place
55213149795.

conscious of political and social realities
55213149796.

Question Number : 150 Question Id : 55213112678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The word rationalization implies......

Options :
Rationing of thought
55213149797.
Reasoning and logic
55213149798.

Standardization
55213149799.



Exposition
55213149800.



